Garland Independent School

GISD Sourcing Bid Tab

Bid#:	31562	Title:	219-16 GLASS AND
			GLASS INSTALLATION
			SERVICES

NT Discount Award S 25% ALTERNATE S 20% PRIMARY
s 20% PRIMARY

8UM - UNIT OF MEASURE OTHER THAN SPECIFIED

Line#	Item Description	Award (Y / N)	Reason	UOM	Supplier	Qty	Price	Extended Price
1	Wire Glass 78" x 130" x 1/4" w/ 3/4" x 3/4" diamond	Υ		SH	GLASS DOCTOR OF NORTH TEXAS	5	\$930.00	\$4,650.00
		Y		SH	BINSWANGER ENTERPRISES LLC DBA BINSWANGER GLASS	5	\$980.00	\$4,900.00
2	Gray Plate 72" x 130" x 1/4"	Y		SH	GLASS DOCTOR OF NORTH TEXAS	5	\$187.00	\$935.00
		Y		SH	BINSWANGER ENTERPRISES LLC DBA BINSWANGER GLASS	5	\$267.00	\$1,335.00
3	Clear Plate 72" x 130" x 1/4"	Y		SH	BINSWANGER ENTERPRISES LLC DBA BINSWANGER GLASS	5	\$145.00	\$725.00
		Y		SH	GLASS DOCTOR OF NORTH TEXAS	5	\$148.00	\$740.00
4	Bronze Plate 72" x 130" x 1/4"	Υ		SH	GLASS DOCTOR OF NORTH TEXAS	10	\$185.00	\$1,850.00
		Υ		SH	BINSWANGER ENTERPRISES LLC DBA BINSWANGER GLASS	10	\$267.00	\$2,670.00
5	Clear Double Safety B-Grade 48" x 84" x 1/8"	Υ		SH	BINSWANGER ENTERPRISES LLC DBA BINSWANGER GLASS	5	\$40.00	\$200.00
		Υ		SH	GLASS DOCTOR OF NORTH TEXAS	5	\$49.00	\$245.00
6	Price per square foot 1/4" wire glass with 3/4" x 3/4" diamond	Y		SF	GLASS DOCTOR OF NORTH TEXAS	150	\$13.50	\$2,025.00
		Y		SF	BINSWANGER ENTERPRISES LLC DBA BINSWANGER GLASS	150	\$17.00	\$2,550.00
7	Price per square foot 1/4" tinted glass	Υ		SF	GLASS DOCTOR OF NORTH TEXAS	150	\$3.00	\$450.00
		Υ		SF	BINSWANGER ENTERPRISES LLC DBA BINSWANGER GLASS	150	\$4.13	\$619.50

	1		I	1				
	Price per square foot 1/4" clear				BINSWANGER ENTERPRISES			
8	plate	Y		SF	LLC DBA BINSWANGER GLASS	150	\$2.95	\$442.50
					GLASS DOCTOR OF NORTH			
		Υ		SF	TEXAS	150	\$3.00	\$450.00
	Price per square foot 1/8" (Double				BINSWANGER ENTERPRISES			
9	Safety B-Grade)	Υ		SF	LLC DBA BINSWANGER GLASS	150	\$1.95	\$292.50
					GLASS DOCTOR OF NORTH			
		Υ		SF	TEXAS	150	\$2.90	\$435.00
10	3/16°Clear, tempered glass	Υ		SF	GLASS DOCTOR OF NORTH TEXAS	100	\$3.60	\$360.00
					BINSWANGER ENTERPRISES			
		Υ		SF	LLC DBA BINSWANGER GLASS	100	\$4.00	\$400.00
					GLASS DOCTOR OF NORTH			
11	3/16'Grey tempered glass	Υ		SF	TEXAS	100	\$3.80	\$380.00
		Υ		SF	BINSWANGER ENTERPRISES LLC DBA BINSWANGER GLASS	100	\$4.47	\$447.00
		•					****	***************************************
40	0/40/7	.,			GLASS DOCTOR OF NORTH	400	** **	****
12	3/16'Bronze tempered glass	Υ		SF	TEXAS	100	\$3.80	\$380.00
					BINSWANGER ENTERPRISES			
		Y		SF	LLC DBA BINSWANGER GLASS	100	\$4.47	\$447.00
					GLASS DOCTOR OF NORTH			
13	3/16'Obscured tempered glass	Υ		SF	TEXAS	100	\$3.80	\$380.00
		Υ		SF	BINSWANGER ENTERPRISES LLC DBA BINSWANGER GLASS	100	\$5.27	\$527.00
		•						,,,
14	1/4" Clear tempered class	Υ		SF	GLASS DOCTOR OF NORTH TEXAS	100	\$3.70	\$370.00
14	1/4" Clear tempered glass	ť		35	TEXAS	100	φ3.70	\$370.00
					BINSWANGER ENTERPRISES			
-		Y		SF	LLC DBA BINSWANGER GLASS	100	\$4.00	\$400.00
					GLASS DOCTOR OF NORTH			
15	1/4" Grey tempered glass	Υ		SF	TEXAS	100	\$3.90	\$390.00
					DINOWANGED EVERDONES			
		Υ		SF	BINSWANGER ENTERPRISES LLC DBA BINSWANGER GLASS	100	\$4.47	\$447.00
16	1/4" Bronze tempered glass	Υ		SF	GLASS DOCTOR OF NORTH TEXAS	100	\$3.90	\$390.00
	para grand	•					,	,,,,,,,
				65	BINSWANGER ENTERPRISES	400	e 4 4-	A 4 7 6 5
		Υ		SF	LLC DBA BINSWANGER GLASS	100	\$4.47	\$447.00

	1	I	1					
17	7/16'Clear insulated glass/units with 5/8'bronze bars	Υ		SF	GLASS DOCTOR OF NORTH TEXAS	100	\$5.60	\$560.00
					BINSWANGER ENTERPRISES			
		Υ		SF	LLC DBA BINSWANGER GLASS	100	\$9.00	\$900.00
18	7/16'Clear insulated glass/units without bronze bars	Υ		SF	GLASS DOCTOR OF NORTH TEXAS	100	\$5.20	\$520.00
		Y		SF	BINSWANGER ENTERPRISES LLC DBA BINSWANGER GLASS	100	\$8.00	\$800.00
19	Clear/grey insulated glass 7/8" clear glass (one side), with 1/4" grey glass (on reverse side)	Υ		SF	GLASS DOCTOR OF NORTH TEXAS	100	\$9.00	\$900.00
		Y		SF	BINSWANGER ENTERPRISES LLC DBA BINSWANGER GLASS	100	\$12.00	\$1,200.00
20	1" clear/clear insulated glass	Υ		SF	GLASS DOCTOR OF NORTH TEXAS	100	\$7.80	\$780.00
		Y		SF	BINSWANGER ENTERPRISES LLC DBA BINSWANGER GLASS	100	\$10.00	\$1,000.00
21	1'Clear/clear insulated glass spandrel units	Υ		SF	GLASS DOCTOR OF NORTH TEXAS	100	\$17.00	\$1,700.00
		Y		SF	BINSWANGER ENTERPRISES LLC DBA BINSWANGER GLASS	100	\$18.00	\$1,800.00
22	1'Clear/bronze insulated glass	Y		SF	GLASS DOCTOR OF NORTH TEXAS	100	\$7.90	\$790.00
		Y		SF	BINSWANGER ENTERPRISES LLC DBA BINSWANGER GLASS	100	\$12.00	\$1,200.00
23	1'Clear/grey insulated glass	Y		SF	GLASS DOCTOR OF NORTH TEXAS	100	\$7.90	\$790.00
		Υ		SF	BINSWANGER ENTERPRISES LLC DBA BINSWANGER GLASS	100	\$12.00	\$1,200.00
24	1'Tempered insulated glass	Y		SF	GLASS DOCTOR OF NORTH TEXAS	100	\$8.70	\$870.00
	-	Υ		SF	BINSWANGER ENTERPRISES LLC DBA BINSWANGER GLASS	100	\$12.00	\$1,200.00
25	Meeks angle snap stainless steel mirror frame with 1/4" mirror	Υ		SF	GLASS DOCTOR OF NORTH TEXAS	50	\$4.80	\$240.00
		Υ		SF	BINSWANGER ENTERPRISES LLC DBA BINSWANGER GLASS	50	\$20.40	\$1,020.00

26	Meeks angle snap stainless steel mirror frame with mirror 20" x 26"	Υ		EA	GLASS DOCTOR OF NORTH TEXAS	25	\$105.00	\$2,625.00
		Y		EA	BINSWANGER ENTERPRISES LLC DBA BINSWANGER GLASS	25	\$135.00	\$3,375.00
27	Meeks angle snap stainless steel mirror frame with mirror 20" x 28"	Υ		EA	GLASS DOCTOR OF NORTH TEXAS	25	\$105.00	\$2,625.00
		Υ		EA	BINSWANGER ENTERPRISES LLC DBA BINSWANGER GLASS	25	\$150.00	\$3,750.00
28	Meeks angle snap stainless steel mirror frame with mirror 18" x 36"	Y		EA	GLASS DOCTOR OF NORTH TEXAS	25	\$95.00	\$2,375.00
		Y		EA	BINSWANGER ENTERPRISES LLC DBA BINSWANGER GLASS	25	\$106.00	\$2,650.00
29	48'x 120'x 1/4" Clear Lexan XL 10		8UM	SH	GLASS DOCTOR OF NORTH TEXAS	100	\$9.00	\$900.00
		Y		SH	BINSWANGER ENTERPRISES LLC DBA BINSWANGER GLASS	100	\$430.00	\$43,000.00
30	48'x 120'x 1/4" Clear Lexan	N	8UM	SH	GLASS DOCTOR OF NORTH TEXAS	100	\$9.00	\$900.00
		Y		SH	BINSWANGER ENTERPRISES LLC DBA BINSWANGER GLASS	100	\$400.00	\$40,000.00
31	48'x 120'x 1/4" Dark Bronze Lexan XL 10	N	8UM	SH	GLASS DOCTOR OF NORTH TEXAS	100	\$11.00	\$1,100.00
		Υ		SH	BINSWANGER ENTERPRISES LLC DBA BINSWANGER GLASS	100	\$430.00	\$43,000.00
32	48'x 120'x 3/16'Clear Lexan	N	8UM	SH	GLASS DOCTOR OF NORTH TEXAS	100	\$10.50	\$1,050.00
		Y		SH	BINSWANGER ENTERPRISES LLC DBA BINSWANGER GLASS	100	\$400.00	\$40,000.00
33	48'x 96'x 1/8'Clear Lexan	N	8UM	SH	GLASS DOCTOR OF NORTH TEXAS	100	\$8.50	\$850.00
		Υ		SH	BINSWANGER ENTERPRISES LLC DBA BINSWANGER GLASS	100	\$320.00	\$32,000.00
34	48'x 96'x 1/4" Clear Obscure Plexi- Glass	N	8UM	SH	GLASS DOCTOR OF NORTH TEXAS	100	\$6.50	\$650.00
		Y		SH	BINSWANGER ENTERPRISES LLC DBA BINSWANGER GLASS	100	\$320.00	\$32,000.00

35	Installation rate per square foot for 1/4" wire glass	Y	SF	GLASS DOCTOR OF NORTH TEXAS	1	\$10.00	\$10.0
		Υ	SF	BINSWANGER ENTERPRISES LLC DBA BINSWANGER GLASS	1	\$20.00	\$20.0
36	Installation price per square foot for 1/4" tinted plate	Υ	SF	GLASS DOCTOR OF NORTH TEXAS	1	\$10.00	\$10.0
		Y	SF	BINSWANGER ENTERPRISES LLC DBA BINSWANGER GLASS	1	\$20.00	\$20.0
37	Installation price per square foot for 1/4" clear plate	Y	SF	GLASS DOCTOR OF NORTH TEXAS	1	\$10.00	\$10.0
		Υ	SF	BINSWANGER ENTERPRISES LLC DBA BINSWANGER GLASS	1	\$20.00	\$20.0
38	Installation price per square foot for 1/8" clear D.S.B.	Υ	SF	GLASS DOCTOR OF NORTH TEXAS	1	\$10.00	\$10.00
		Y	SF	BINSWANGER ENTERPRISES LLC DBA BINSWANGER GLASS	1	\$20.00	\$20.0